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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective-type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or any such
electronic devices in the Examination Hall.

In case of any doubt or confusion in the question paper, the English version will prevail.

Write your Question Paper Code No. 69/MAY/4, Set- on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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el Bl ST ST SR

el @t Tl e ¥ Sepacd, AEEd B, <Y, 3THE o9 fhdr Y gageiie Sus
B & T A Ry R

UeTaS H fopdl AT YR & ©ag ofgan giaer @ Rufq § SRS srgae & A= ')
AT IA-GRAHT TX U995 &l die 4. 69/MAY/4, Fe—| A | W€
(®) WU haw fEai/eeh ¥ ¥ AT Y, afy eng @ @ A & 2 foRdl ua W o
ST ¢ Hohd & ¢
Hiul, AT, erafar, Aured, weirll, Twpa ok e
FuAT SA-gRawr H iU g S ¥ e 6 ema few Wi § S fow @ 2
(@) afy ey &<y Tg Ui & erfafiea fay o wron ® SaX for@d €, of woat &l a9s
¥ T arr Ffeat | afaat @ RTEer Baw smuwt g

NOTE / fidur :

(1)

(2)

Answers of all questions are to be given in the Answer-Book given to
you.

gl el o IW YRl o T IW YR H @ fad|

15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to
02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

T Y-T hl Ugd o o 15 fie o1 wwg oo e 1 9eA-u ok faeon
TR H 02.15 s R S| SueR 02.15 s § 02.30 It Gk BH hadd
I-U5 HI TG IR W Ay & I F IR-YRKHT W wE IW AL
fom |
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ACCOUNTANCY

ETHA
(224)
Time : 3 Hours] [Maximum Marks : 100
g 3 Hue] [qurics : 100
Note : (1)  This Question Paper consists of 45 questions in all.
(ii))  All questions are compulsory. Internal choice is given in some questions.
(ii1)) Marks are given against each question.
(iv) Section — A consists of Question Nos. 1 to 20 multiple-choice type questions
(MCQs) carrying 01 mark each. Select and write the most appropriate option
out of the four options given in each question.
(v)  Section — B consists of Question Nos. 21 to 23 carry 2 marks each and Question
Nos. 24 to 29 carry 4 marks each. Attempt these questions as per the instruction
given for each question.
(vi) Section — C consists of
(a) Question Nos. 30 to 35 very short answer type questions carrying
02 marks each to be answered in the range of 30 to 50 words.
(b) Question Nos. 36 to 41 short answer type questions carrying 03 marks
each to be answered in the range of 50 to 80 words.
(¢) Question Nos. 42 to 45 long answer type questions carrying 05 marks
each to be answered in the range of 80 to 120 words.
e : () 39 979 H A 45 U 2|
(i) @ weT oAEd %1 B ued H eniaie faeew K W™ )
(i) T&® 9T & S IHh WA fu Ty )
(iv) ®E— A H gftufad § — 9 e 1 9§ 20 Sgfasedl Yer & 959 (MCQs),
T® 1 3% B YA U # iy MU ar fawedt § ¥ q99 Iugw faeed
® gAwT faaT 2|
(v) @ —B ¥ gitAafaq € — 2 o O 99T HEmm 21 § 23 d& duT 4 3d
I 9T WEAT 24 W 29 % ¢ | UAH U o ¥ W frdelf & orgER S
& B B
(vi) @9 —C ¥ ghafaa ¥ :

(a) 2 3% a1 Y9 "e&r 30 ¥ 35 9% SAfdeyg I A YT & e I
30 9 50 graf @ W ¥ fem W o®)

(b) 3 8% A YT € 36 ¥ 41 9% @Y IaX A UeA ¥ e waw
50 ¥ 80 gt H W ® femm wmm #)

(c) 5 3 ar W9T HET 42 ¥ 45 I Y ST di 99T & et SR
80 ¥ 120 grsaf &f €@ # fomm SR
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SECTION - A

gs - A
1  Which accounting concept restraints accountants from recording of owner’s 1
private/personal transactions?
(A) Business Entity Concept (B) Money Measurement Concept
(C) Going Concern Concept (D) Dual Aspect Concept

DI I WG TN TGHI Dl TIieieh &b [-Toll/ARTTd W-e-i bl [{bis BT q
Tl & 7

(A) I 3B STTLON (B) &9 WY STEEmren
(C) §aaq €™ STaLR (D) faueim sraemom
2 Current assets NOT include: 1
(A) Cash (B) Stock
(C) Prepaid Expenses (D) Furniture
o ufufaal & @ anfe e R 7
(A) &3 (B) wi®
(C) wEYTaE =4 (D) AR
3 Which of the following ensures uniformity in charging depreciation 1

on fixed assets?

(A) Consistency convention (B) Conservation convention
(C) Materiality convention (D) Going Concern Concept
Prefefag & 4 B I GuREl W qeEE @ A e gk s &7
(A) HHTEUAT G (B) wiearfedr aiedrer
(C) ¥rar giErer (D) @ad =M STEEen
4  Out of the following which is not an external liability of the business? 1
(A) Creditors (B) Reserve
(C) Bank loan (D) Outstanding wages
frfafad & 9 &9 A1 ™ B Il a1 el § 7
(A) TR B) "=g
(C) d& = (D) F®mET TSLh
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5  Going concern concept states that a business firm will continue to 1
carry on its activities for:
(A) short period of time (B) maximum period of 10 years
(C) definite period of time (D) an indefinite period of time

HAd AIHE HILURIT & FIER Th ATadad BH a1 Tafaraal & Fefaiaa
S P | EUBRCC B

(A) &9 a9 Iary (B) afepaw 10 a9 @1 erafy
(C) fafyad @wg srafy (D) arffyaa wwg erafy
6  Duality concept is commonly expressed in terms of: 1

(A) fundamental accounting equation

(B) fundamental accounting assumption

(C) fundamental accounting convention

(D) (B) and (C) both

2d SIERT Bl MR X Frefaied & &9 H e fear wan &

(A) Hifes @it GHH T (B) Hiferh w@ich emen
(C) wifde W@ gfare (D) (B) 8 (C) g
7 A company purchased plant and machinery of ¥ 1,00,000 in the 1

beginning of the year and its life span is 10 years. According to going concern
concept, at the end of the year expense will be shown:

TEh w7 g9 @ gEed ® T 1,00,000 0 w1 @i iR "eiEd wiEr ofik
ZHeT Sieqa| 10 9 §1 9aqd a9 SEaURT % e a9 & ofd ¥ 9 3@
T fo@mar s

(A) ¥ 1,00,000 (B) ¥ 20,000
(C) 10,000 (D) ¥ 50,000
8 A business has unsold stock at the end of year. The cost price is 1

% 40,000 and its market price is I 42,000. At which price the unsold
stock should be recorded?

Uh FAEE & UE a9 & ofd ¥ faW fow wiw ¥ @ g@@ T 40,000 ' &R
FHET TR T % 42,000 B O foe wie @ fhE e woad fean e
ey ?

(A) T 40,000 (B) ¥ 41,000
(C) T 42,000 (D) T 82,000
9  What will be the affected accounts in case of goods sold to Nipun? 1
(A) Sales A/c and Cash A/c (B) Only Cash A/c
(C) Only Sales A/c (D) Sales A/c and Nipun A/c
YU & S T 9@ ¥ gHifad @ @ B Y
(A) fmr @ iR g w@ran (B) %ad Foe @
(C) haw fabl @ (D) fespl @m@ar ofix fgor @
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10  Which accounts will be affected in case of Cash ¥ 10,000 paid to Anu, 1
a creditor?

(A) Only Cash A/c (B) Only Anu A/c
(C) Cash and Anu A/c (D) Cash and Capital A/c
39, e @ &g % 10,000 &1 A oy 9 T &9 & @ gHItad s 7
(A) ®ad Tha @Il (B) %ad o @l
(C) g X o1 @ra (D) -®g X duil @
11 How many accounts will be affected for cash received ¥ 9,800 from 1

Rajinder, a debtor in full settlement of his account of ¥ 10,0007
9 qfTET IMe T9ER ¥ 9% @d & < 10,000 & gl froem & T 9,800 g
U< g @ fhae @M Wed & fau gwifad si 7

(A) 4 B) 3
€ 1 D) 2
12 Which account will be credited for withdrawing cash from Bank? 1
(A) Cash A/c (B) Goods A/c
(C) Drawing A/c (D) Bank A/c
d% ¥ Toal e & o few @ @ shfse fepar s ?
(A) ¥®e @rar (B) #@ w@rar
(C) emeTer w@rdn (D) % W@
13  Which of the following are correct examples of subsidiary books: 1
(i) Cash book (i1) Sales book
(iii) Purchase book (iv) Capital book
(A) (i) and (ii) only (B) (ii) and (iii) only
(C) (i), (ii) and (iii) only (D) (i), (i) (iii) and (iv)
frafafed & ¥ &N Hede Sfedl & @& IQEA &
(i) ®s T (i) faeor o
(iii) g S& (iv) dsir =@t
(A) Haw (i) &R (ii) (B) wad (ii) 3T (iii)
(C) waw (i), (i) 3T (iii) (D) (i), (i) (iii) 3T (iv)
14 Source documents are also called: 1
(A) Accounting documents (B) Analyzing documents
(C) Business documents (D) Posting documents
g g@l B ¥ A el S 8
(A) w@&r ya@ (B) faswwer yer@
(C) =aaiys g (D) W& Yo
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16

17
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Depreciation charged on machine, the entry will be recorded :

(A) In the Cash Book (B) In the Sales Book

(C) In the Journal Proper (D) In the Return Inward Book
A T @Y M R B Gt &S bl S

(A) &g TE H (B) fumr &€ o

(C) wHa WX # (D) aUE SEws §§ A

Petty cash book is prepared for:

(A) All cash receipts and payments
(B) Big payments

(C) Small payments

(D) Big and Small both payments

@ s o1 frefafad & fiw o & S @
(A) Tt ag Wi ot A= (B) S YA

(C) ®BR Y= (D) s9 &R Bl IAN YW
How many types of accounts are given on the basis of nature of accounts?
(A) Two (B) Three

(C) Four (D) Five

gl & UPHid b AU’ X fhad YeR & @ faw T E 7

(A) = (B)

(C) = (D) =

Which of the following device is NOT an input device?

(A) Keyboard (B) Mouse

(C) Bar code reader (D) Monitor

frafafad & & &9 @1 Susw gge feagw w@f ¥ 7

(A) @ErE (B) #reH

(C) IR @z s (D) =X

Out of the following which is/are the limitations of a computer?
(A) Low cost of installation (B) High cost of training
(C) Costly maintenance (D) Both (B) and (C)
frafafad & @ ®rgex & dmdEd eR-d 3R 7

(A) WU & HH AT (B) wiyteror & 3@ @0
(C) w&m T@ia™ (D) (B) &ix (C) ==t
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Which unit stores data before actually processed?

(A) Control unit (B) Memory unit
(C) Arithmetic unit (D) Logic unit
BF A 3HE daad H EEud BN 9 Ued < €U @il § 7
(A) Fresmr gabrg (B) Il gid
(C) S oS (D) e &g
SECTION - B
gE — B

Complete the following statements:

(i) Convention of conservatism is based on the principle that
(i1)) Full form of GAAP is

Prfafad s B Q@ F Y

(i) ®fga & wWow 3@ fagia woemaia ® 6

(ii) 9 (GAAP) &1 qui & g

Match the following:

(i) Debtor (a) a person to whom money is owing.
(i1)) Creditor (b) a person who owes money
frefated &1 e &1

(i) TITER (a) @& Al 4 Y81 gHrAT ST 2 |
(i) e (b) =E AR S FOW &

Fill in the blanks:

1x2=2

1x2=2

1x2=2

Computer is an electronic device that can perform a variety of operations

in accordance with a set of called
o @m =1

HYIY U FGLh IR & S
% B B GHA & HE Sl

% Th W % AR fafH= yan
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26

Give one word answer for the following : 1x4=4

(1) In which convention, stock is recorded at cost or market price whichever
is less?

(i) What refers to the inflow of money or other assets that result from the
sale of goods or services or from the use of money?

(ii1)) What is the term used for all costs incurred in earning revenue?

(iv) What does excess of revenue over expense represent?

ffafag & fio @@ g & s <

(i) fpe ofUrel o, ®id & ara 91 SR e S 97 A 81, U ISl (a1 Sl
g7

(i) =T ar gameh o fShl a1 &9 & SUEN ¥ TW 9 €9 A1 o ufguradt
% O YR Pl &l Hed § 7

(iii) omm efvfd & & BH arel 9 @ral & fu 6w o @1 SwaRr fomn
S § 7

(iv) =9 9T SIFM &1 oifirsar war gorier &7

Write the two aspects (effects) of the following transactions : 1x4=4
(i) Depreciation charged on Furniture

(i1)) Goods sold on credit to Meenu

(ii1)) Plant purchased for cash

(iv) Paid cash to Anuj

frfafgg @99 o wvifad @ war o
(i) WAER 9 @E T e T
(i) ¥ @l SR s=@1 T A

(iii) wg ® wlEr T wie

(iv) oSt &l s YN fopar T

Match the following : 1x4=4
(a) Journal (1) Page number of ledger

(b) Ledger folio (i1)) Divide journal into various journals

(c) Special Purpose Book (i11)) Book of Primary Entry

(d) Narration (iv) Explanation of a particular journal entry
frrfefad &1 e &

(a) ST (i) @ S8 @ g3 e

(b) w@rar wiferl (ii) remmrrEr & fafi o § fafea &Y
(c) fasw waew «& (iii) wrafrs gfafte & g

(d) wu= (iv) foelt fagw sHw wfafe &1 @i
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27 Identify whether the following are Debit Vouchers, Credit Vouchers or 1x4=4
Transfer Vouchers.
(1) Payment to creditors

(2) Cash withdrawn from bank for office use
(3) Goods returned by customer
(4) Bad Debts

vea f fefafad & @ @9 A9 YHUG, SET YEIOG AT SR YHOG F |
(1) =Rl @ g

(2) wEfda IwEn & fu §6 o e 1§ Fwd

(3) UEH E AET TN A

(4) 9d ®

28 From the following transactions, state the titles and types of accounts  1x4=4
to be debited and the account to be credited :
(I) Ankit took loan from Bank ¥ 30,000
(IT) Received commission ¥ 4,000
(IIT) Paid for printing and stationery I 500
(IV) Paid rent ¥ 6,000 by cheque.
frfafgd W97 &, 99 6 99 o @l & 9, e o ST fey
qd WA B I B
(I) oifed & §& & T 30,000 &1 For form
(I) wHeE gt fepar % 4,000
(1) fifeT 8k Remdl &% faq s fear X 500
(IV) J% &g % 6,000 1 frTrn gebran

29 State the following sentences True or False: 1x4=4

(i) Computer is a device that transforms information into data.

(i1)) Computers have huge capacity to store data in a very small physical
space.

(i11)) The main unit inside the computer is the Secret Processing Unit.

(iv) The reporting is flexible in computerized accounting system as compared
to manual accounting system.

frfafad aerl & 9 a1 o g

(i) =T TH UET IUHOT & S AT & s H Feadl 2

(i) X o §8d Ble Hifde ©F o S WIEM &I HI [G9a &war exil 2|

(ili) #=ET & S q&I THE Hihe UERT JHE B

(iv) Fgora sTehrefen faeed &l gamT 9 &vgeiiga stamsten fawen & Raifén aeim
Bl 1
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SECTION - C
g — C

30 (i) How imprest system of Petty cash book works? 2
WY UkS & B U TUTCH BY BH B § 7
OR / sty
(i1)) Is it necessary to prepare trial balance? Explain.

T dAIS qIAR BT €D & 7 AR

31 State the types of accounts as per traditional classification. 2

A T & STIER @l & UhK SaEd|

32 (i) Explain the need of opening suspense account. 2
SOl Gl Wied @l eIl Sdisy|
OR / sy
(i) Why is Trading account prepared ?
MR @A &b R fear S @

33 Explain the concept of obsolescence with the help of an example. 2

T IR0 B GEEdl  STYTAT bl SR Bl GHEY |

34 Distinguish between Balance Sheet and Profit and Loss Account. 2

Rafa faeor ok @w—=1 @ & 99 ofdT saRyl

35 (i) Give adjustment entry of Outstanding Expenses in the financial 2
statements with the help of a suitable example.
SUYHI IAEIU Dl gerEdl § o faaxen # g g & guEee gidme
iy |
OR / sty
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37

38

(i1)) From the following information, prepare Profit & Loss Account of
M/s. Dinesh Traders for the year ending on 31-3-2024.

4
Gross Profit ......cccccevevveeeveeeeiniinnnnnns 86,000
Freight Outwards .........cccceeevveennnen. 14,000
Office rent....uueeeeeeeeeieeeieeeieieieieiieeanas 90,000
Insurance premium ............ccceeeueeenn. 26,000
Telephone charges .........ccccceeveneennnne. 4,800
Interest received....cooovveeeeeeeieeieiennn. 12,000
Discount received .......cooeveeeveeeeeeennnne. 2,000
Discount allowed ........cooeevveeveennnnnn. 20,000

frfafag Sl @ 31-3-2024 & 9919 8 9@ 99 % (6Q

Igd Ay <=9 @ WY-gIY 9l 9O &i

3
DT TTH eeeeeeeeeeiiiiiiiie e eeeeeeennnns 86,000
B WIS oo, 14,000
90,000

BEATAT FBTAT o :
26,000

AT W oo :
STTBIT QLB wovevrererrererenereenereenenenanas 4,800
TTC ST o 12,000
TTRE B oo, 2,000
TG B et 20,000

Explain the effect of Dishonours of a Cheque in cash book.
U6e T H Y% b OMET & WG B AT BT |

(i)

(i)

Enumerate the merits of straight line method of depreciation.

TR & @dl Y@ fafy & o gdru)
OR / S

What are the demerits of diminishing balance method of depreciation?

e & "edl 9w fafy & @ I ¥7

Enumerate the limitations of trial balance.
qaAIe B HU qaqEul

69/MAY/4—224-A ] 12
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39 The books of accounts of Mr. Kumar showed the following : 3
The value of Furniture is ¥ 2,00,000 as on 31-3-2024 and value of Plant
and Machinery is ¥ 50,000 as on 31-3-2024. Depreciation is to be charged
on these assets @ 10% p.a. How will you reflect the given transaction in
the profit & loss account and balance sheet on 31-3-2024 ?
A PAR B war S8 A Frefafaa qoatEr @ oo
31-3-2024 & wHrER & g T 2,00,000 & 3R 31-3-2024 @t @ie iR wsfed
& g T 50,000 ¥1 37 ufkgufaal X 10% wid a9 @ X & e @an e
g1 31-3-2024 & @w—el @ X Rafd ferer # e Ry g weT @ w9
FITG ?

40 (i) Megha Limited purchased a machine on April 1, 2023 for 3
Rs. 1,00,000 whose life was expected to be 10 years. Its estimated scrap
value at the end of 10 years was . 10,000. Find the amount of
depreciation to be charged to the Profit & Loss Account every year.
Calculate the rate on which depreciation is to be charged every year.

o7 fafee ¥ 1 edw 2023 & T 1,00,000 F T wsie @y, Rrger sfew
10 & &9 &1 IRIE 71 10 | &6 ofd # g8 STHINa whd e < 10,000
a7l T W AW-|MM @I H @M S o e ol ARl S &1
SH & @B AT B B W B AW e @ S g |

OR / 3ty

(i1)) From the following balances extracted from the books of M/s. Taruna
Bros., prepare a Trading Account for the year ended 315t March, 2024.

Particulars Amount (Rs.)
Opening Stock as on 1-4-2023 .......cccccveeeiienne. 64,000
Purchases ......oooveeeeeeiiiiiiiiiceeeee e 3,30,000
Freight .o, 8,000
POWET oo 13,000
Custom DULY ...evveeeeeiieeeccieeee e 11,000
SAIES oo 1,60,000

Closing Stock as on 315t March, 2024 Rs. 60,000
T qEU TSE Hl gl § e o trefaiaad oot @, 31 ", 2024
®H I 99 & U Th AU Gial qa i

. §
1-4-2023 @Y GTTE B ovvooooreeeereer 64,000
TG oo 3,30,000
TIT GETE o vvveeeeeeeeeeeeeee oo 8,000
L SR 13,000
T ST oo 11,000
BRI oo 1.60,000

31 wrd, 2024 &1 sifom ®iw % 60,000
69/MAY/4—224-A | 13 [ IHMmAWmmm [ Contd...
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(i)

(ii)

(i)

(ii)

(i)

Explain the closing stock adjustment and their treatment
in the financial statements.

Jiftm =i R iR farig foawon & S ST @l EreEr sl
OR / styan

Salman and Usman Bros. acquired a machine on July 1, 2008 at a cost
of ¥ 70,000 and spent ¥ 5,000 on its installation. The firm writes off
depreciation (@ 10% on straight line method. The books are closed on
December 31 every year. Show the depreciation account for three years.
YA oY SEE Fd A 1 §@ms, 2008 & % 70,000 @ AFA § Th AL
TS o 3@ wioar WX % 5,000 'd fRwl wH oA el Y@ usfd |
10% & 3T ¥ g™ & 93 @ o s foan| s & 9w 31 feEsy
& §8 fpu S ¥ AW 9@ & fiu qeee e )

If Trial Balance does not tally, it means that some errors have been
committed while preparing the accounts. In the light of given statement,
explain the process of locating the errors.

JAUE A el WAl &, 9P 9qq9 & 6 @id Ja B O $H Tt
g5 &l fou U oy & emu WY, FfeA @1 war @O @ uikdr @ e
e |

OR / 319t

State the meaning of Journal. Draw its format and explain its purpose.
USHTeT &1 S 9aid| 3gHT WIEY g9 3% 3T 39 gHsU|

Record the following transactions in a Simple Cash Book of
M/s. Naresh & Co.
Date Amount )
2024
July 1 Cash in Hand 75,000
July 6 Received from Rishi

(after allowing a discount 350) 9,000
July 10 | Paid Advertising expense 900
July 18 | Sold Goods 16,500
July 23 | Paid Atri 13,500
July 27 | Purchased Machinery 12,000
July 31 | Paid Rent 4,500

5
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TEd Y UE hu bl WA Uhs 98§ feEfafgd 9T @ el

e BT (3
2024

A 1 | T Fahar 75,000
ez 6 | W T 9 (350 @ B I & «W®) 9,000
s 10 | fosied =g &1 e 900
S 18 | a1 T A 16,500
IS 23 | ol @ A 13,500
s 27 | "l @l 12,000
s 31 | feeeran g 4,500

OR / &

(i) What do you understand by Trading and Profit & Loss Account?
Differentiate between Trading and Profit and Loss Account.

AR 3T AW-81 O ¥ MY R 993d & 7 R 3 dAH-—ei" @
% 99 Y B |

Journalize the following transactions in the books of M. Akshay.
2010,

April

1 Mr. Akshay started business with Cash ¥ 80,000.

4 Purchased goods from Mona 3 28,000

7  Deposited cash into Dena Bank ¥ 39,000

10  Sold goods to Dinesh I 41,000

13 Purchased Laptop of ¥ 30,000 in cash.

AN e o gawl H FrEfaied d9-a90 B A giattear wi
2010

ElE

1 &t srgm 3 T 80,000 T &% |1Y JIEE & fopa|

4 A& ¥ % 28,000 H1 GHE @G

7 & d% ® T 39,000 Fhg w0 fRUl

10 f&@sr @ T 41,000 &1 9EE ST

13 ¥ 30,000 s &1 WU[d @I



45 Following are the balances

318t March, 2019:

extracted from the books of Manish on

Particular Amount | Particular Amount
Capital 1,90,000 | Cash at Bank 26,000
Drawing 7,000 | Salaries 8,000
Plant & Machinery 1,20,000 | Repairs 1,900
Delivery Vehicle 26,000 | Stock on 15t
Sundry Debtors 36,000 April, 2018 16,000
Sundry Creditors 26,000 | Rent 4,500
Purchases 20,000 | Manufacturing Exp. 1,500
Sales 42,000 | Bills Payable 23,500
Wages 8,000 | Bad Debts 5,000
Carriage 1,600

Prepare Trading and Profit & Loss Account for the year ending March,
31, 2019 and Balance Sheet as at that date after following adjustments are

made :

(1) Closing Stock was Rs.16,000
(ii) Depreciate Plant and Machinery @ 10% and Delivery Vehicle @ 15%
(iii) Unpaid Rent amounted to Rs. 500.

31 7, 2019 @ "W @ gew ¥ fbw Wy Frefatad €

faaeor T | e w7
LEll 1,90,000 | §& ¥ s 26,000
SMME 7,000 | o= 8,000
wie 3T 79 1,20,000 | 7va 1,900
faaeor ames 26,000 | =i 1 3, 2018 16,000
fafaer TeR 36,000 | feaemm 4,500
fafaer wver 26,000 | SdET =TI 1,500
ER| 20,000 | 3 fous 23,500
fasa 42,000 | T T 5,000
LEER 8,000 | wrer 1,600

fr=fafaa guEeH & & 9§ 9¥ g9ig 31 9, 2019 &1 AR iR |-
TN Trar aur sar fafr &1 Rufq faewor ar &<

(i) siftm s T 16,000 &)

(i) wie &R AT T 10% iR faawer ara W 15% & X ¥ ™|

(i) =@ fewar T 500 e
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